' 8 0 ‘ o 05
70, 02 OF OF 05 09 OL 08 06 QQEOL 0Z 0t

r=1
= —
o
"o
@
= o
-~
—a
o
-
-
S
'y
=3
w
>
Y
(=]

Overall view of unit

A e T ,
8,02 09 05 0¥ 0¢ 0Z 01 0} 08 0% 02 03 05 Or 0c 0z o | D

BENE 01 00Z0s 08 oL 09 08 0¥ 0c 0z 04 001 0s 08 02 09 0 |

i
uzjgdi 0Z 0E 0¥ 0S

0Z 0¢ O 0S 09 0L 08 06 §p2

Overall view of unit

Ve




05 0¥ o¢ oz

0 00106 og

=
5
3
e
2
5
3
2
2
@
8
e
&
@
8
5
8
3
)
<
5
e
8
=
g
=
3
2
2
a
8
2
&
w
8
w
8

€ 0v 05 09 0z 08 06 9| "

Overall view of unit

Overall view of unit



Overall view of unit

Overall view of unit



Overall view of unit

Overall view of unit



